

LAWS OF LOGS CONT'D.

BE WHERE AS A SINGLE LOG

$$(1) \log(a+b) + \log(a-b)$$

$$\log(a+b)(a-b)$$

$$\log(a^2 - b^2)$$

$$(2) \log A - 3\log B + 5\log \sqrt[3]{C}$$

$$\log A - \log B^3 + \log(C^{\frac{5}{3}})$$

$$\log A - \log B^3 + \log C$$

$$\log \frac{AC}{B^3}$$

$$\log \frac{AC}{B^3}$$

DE IF $x = \log_y 5$ AND $y = \log_y 3$

Express $\log_y 225$ in terms of x and y

$$\log_y 225 = \log_y (25 \times 9)$$

$$= \log_y 25 + \log_y 9$$

$$= \log_y 5^2 + \log_y 3^2$$

$$= 2 \log_y 5 + 2 \log_y 3$$

$$= 2x + 2y$$

DE SOLVE FOR x

$$\textcircled{1} \quad 2^x = 5$$

$$\log 2^x = \log 5$$

$$x \frac{\log 2}{\log 2} = \frac{\log 5}{\log 2}$$

$$x = 2.3219$$

$$\textcircled{2} \quad 3^{x+2} = 5^{2x-3}$$

$$\log 3^{x+2} = \log 5^{2x-3}$$

$$(x+2) \log 3 = (2x-3) \log 5$$

$$2x \log 3 + 2 \log 3 = 2x \log 5 - 3 \log 5$$

$$- 2x \log 5 \quad - 2x \log 5$$

$$2x \log 3 - 2x \log 5 + 2 \log 3 = - 3 \log 5$$

$$- 2 \log 3 \quad - 2 \log 3$$

$$2 \log 3 - 2x \log 5 = - 3 \log 5 - 2 \log 3$$

$$2x \log 3 = \frac{2 \log 5}{\log 3 - 2 \log 5} = \frac{- 3 \log 5 - 2 \log 3}{\log 3 - 2 \log 5}$$

$$x = 3.3135$$

$$\log_3 7 = x$$

$$\log_3 7 = \frac{\log 7}{\log 3}$$

$$3^x = 7$$

$$x \log 3 = \log 7$$
$$\frac{x \log 3}{\log 3} = \frac{\log 7}{\log 3}$$

$$\log_3 7 = \frac{\log 7}{\log 3}$$

$$x =$$

$$\frac{\log 7}{\log 3}$$

\Rightarrow

$$\frac{\log 7}{\log 3}$$

$$\frac{\log 7}{\log 3}$$

$$\frac{\log 3}{\log 4} \times \frac{\log 4}{\log 7}$$

$$\frac{\log 3}{\log 7}$$

$$\log_2 3$$

$$\log_2 3$$

(Note: The original image shows a circled $\log_2 3$ with arrows pointing to the $\log_2 4$ and $\log_2 2$ terms in the adjacent fraction.)

$$\log_4 4$$
$$\frac{\log_4 4}{\log_4 4}$$

$$\frac{\log_4 4}{\log_4 2}$$

HLW Ps 83 1, 2, 6-11, 17-19